Entropy Questions on change of state.

(show all working and include signs and units in your answers)

1) Find the standard entropy of vaporisation (i.e. (Ssystem) of lead at its boiling point, 2013K given that the standard enthalpy of vaporisation is +179.4  kJ mol-1.
2) Find the standard entropy of melting of lead at its melting point 601K, given the standard enthalpy of melting is +4.77 kJ mol-1.
3) Calculate the standard entropy of sublimation of arsenic at its sublimation temperature of 886K, given that (Hsublimation = + 32.4 kJ mol-1.

4)Find the standard entropy of vapourisation of ethanol at its boiling point of 352K,

given (Hvap = + 43.5 kJ mol-1.

